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Section A
Answer all questions on four extracts taken from two options studied.
Option A: Homer

Extract 1 Homer, lliad 16.394-414

[Tatpoklog S’ £mel 0DV MpwTag EMékepoe AAayyas,

395 4y émi vijag Eepye MAAUTETEG, 0VSE TTOANOG
ela lepévoug emPatvépey, AAAA peonyv
V@V kal Totapod kal Teixeog bynAoio
KTelve peTaloowy, ToAéwV & AmeTivuTo TToLVNV.
€vO’ ftot IIpodvoov mpdTov Pdde dovpl paev®

400 oTépvov yvpvwOevta map’ domida, Aboe ¢ yvia-
dovmnoev 8¢ meowv- 6 6¢ Oéotopa Hvomog viov
devtepov opundeig: 6 pév ev&éotw évi Sigpw
070 dAeig- €k yap TANYN @pévag, k & dpa Xelp@v
fvia RixOnoav- 6 §” Eyyeil vi&e mapaoctag

405  yvaBuov deditepov, St §” avtod meipev 08OVTWY,
E\ke 8¢ SovpOg EAWV DTIEP AVTLYOG, WG OTE TIG PG
nétpn Em mpoPARTL kKabnpevog tepov ixBLV
¢k ovTolo BVpale Aivw kai fvoTt oAk
G €Ak’ €k Sippolo kexnvoTa dovpl Pasvd,

410 «kad &’ d&p’ émiotou’ Ewoe: megovTa 8¢ v Aime Qupudg.
avtap €neir’ Epvlaov énecobpevov Bake mETpw
HETOTV KAK KeEPAANV- ] & dvOtya mioa keaobn
&v kOpLOL Pplapii- 6 & dpa mpnvig Emt yain
KATTEoeY, apgl 8¢ pv Bavatog xvTo BvpopaioTnq.

1. (a) Describe how Patroclus cuts off the Trojans. Support your answer by quoting the
Greek text. [2]

(b) Identify two phrases or expressions that indicate Thestor’s fright at Patroclus’s
approach. Support your answer by quoting the Greek text. [2]

(c) Analyse the fisherman'’s simile giving three details from each of its two elements
(lines 406—409). Support your answer by quoting the Greek text. [3]

(d) Translate avtap ... kanneoev (lines 411-414). [3]
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Option A: Homer

Extract 2 Homer, lliad 22.167-187

Tolot 8¢ pobwv fpxe matnp avdpdv e e Te-
‘@ momot N gilov &vdpa Stwkopevov Tept TEIXOG
O0@Balpoio Opopat £uov 8’ dAogipetat ATop
170 “Extopog, 6 pot ToAAd Po@v €mi pnpi’ €knev
"I8n¢ v kopv@fjot ToAlvmtuxov, GANote §” avte
v OAeL AkpoTaTy: VOV adTE € 81og AXIAeG
dotv mépt IIpiapolo mooty Taxéeoot Siwkel.
AN dyete @paleade Oeol kai pntidacde
175  1é py €k Bavatolo cawoopey, Né v 1ion
ITnAeidn AxAfii dapdooopev E0OAOV EovTal
Tov 8’ avte mpoogetne Bed yYAavk@mig ABnvn-
‘@ mdtep dpytképavve kehave@eg olov Eetmeg:
avdpa Ovnrov éovta mdAat menpwpévov aion
180  dy €0éAeig Bavdtolo Svonxéog é§avalboal;
€pd’ - atap ol tol mavteg Ematvéopev Beot GAAoL.
v & dmapelBouevog mpooepn vepeknyepeta Zelg:
‘Bdpoet Tprtoyévela @ilov Tékog: oD vO TL Bup®
npo@povt pubéopat, E0éAw O¢ Tot fjmog eivar:
185  €p&ov Omn 81 Tot voog émheto, un 6’ €17 €pwel.
g eimwv dtpuvve mapog pepaviav AORvny:
i} 8¢ kat’ OvAvumoLo Kaprvwy difaoa.

2. (a) Contrast Zeus’s and Athena’s understanding of Hector’s fate. [2]

(b)  Write out and scan Bdpoet ... eivat (lines 183-184). Indicate elisions where necessary. [2]

(c) Analyse how Homer adds a sense of solemnity to the extract through stylistic means.
Support your answer by quoting the Greek text. [6]

Turn over
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Option B: History

Extract 3 Herodotus, The Histories 1.46.1-47.1

10

(@)

(b)

(d)

neta 8¢ 1y Aotvayeog tod Kva&dpew flyepovin katapedeioa tro Kbpov tod Kappooew kai ta
@V [Tepotwv mpnypata avéavopeva mévBeog puev Kpoioov anénavoe, évéPnoe 8¢ &g ppovtida,
el kwg dvvatto, Tpty peydhovg yevéoBat tovg ITépoag, katalaPely avtdv avfavopévny v
Suvapy. petd @v Ty Stavolay TadTny avTika ATETEPATO TOV pavteiwv Tdv Te éVEAAN oL kai
ToD &v Apin, Stamépyag GAAovg GAAT, Tovg pev &g Aed@ovg iéval, Tovg 8¢ é¢ APag Tag Pwkéwy,
TovG 0¢ €6 Awdwvnyv- ot 8¢ TIveg éméumovTto mapd te Apgldpewv kal apd Tpopwviov, ot 8¢ Tig
MiAnoing €¢ Bpayyidac. tadta pév vov T EAAnvika pavtra £¢ T Amémepye LavVTEVOOUEVOG
Kpoioog- Apung 6¢ mapd Appwva anéotelle GAAovg Xpnoopévoug. Siémepne O¢ TELPDUEVOG
TOV pavtniwv & TL @povéoley, WG el ppovéovTta TNV aAndeiny evpedein, éneipnrat opéa dedtepa
néunwv el Emixetpéot émi [Iépoag otpatevecbat. vrethapevog d¢ tolot Avdoiot Tade dnémepmne
&g TN Suamepav T@V xpnotnpiwy, &’ {S v nuépng oppundéwat ¢k Zapdiwv, amd TavTng
fiHepoloyéovTag TOV Aomov Xpovov £katooTi) fiépn xpaobat Toiot xpnotnpiolol, Enelpwtd®VTAG
6 1L motéwv Tvyxavol 6 Avd@v Pacthevg Kpoloog 6 Alvattew- dooa §” &v €kaota TOV
xpnotnpiwv Beomion, cvyypayapévovg dvagépety map’ EwuTov.

Outline how the rising of the Persian power affected Croesus. Support your answer by
quoting the Greek text. [2]

TOVG pev &G AeAolg ... £¢ Bpayyidag (lines 5-7). State how these geographical
references represent the entirety of the Greek world. Support your answer by quoting
the Greek text. [3]

Translate digneune ... otpatevecdal (lines 8-10). [3]

Explain why Croesus sent envoys to the most prominent oracles. Support your answer
by quoting the Greek text. [2]
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Option B: History

Extract 4 Herodotus, The Histories 7.225.2-226.2

10

(@)

(b)

(c)

wg 8¢ TovTovg fjketv EémvBovto ol EAAnveg, évOedtev fidn £tepolodTo TO Velkog: €G Te Yap TO
OTEVOV TR 680D dvexwpeov OTOW, Kal Tapapelydevol To Teixog EABOVTeG ifovTo £mi TOV
KOAWVOV TtavTeg aAéeg ol Aot AN OnPaiwv. 6 8¢ KoOAwvog éoTi v Tf} £€000w, dkov VOV O
AiBwvog Aéwv €otnke €mt Aewvidn. év TovTw ogéag @ Xwpw dlefopévoug paxaipnat, Toiot
avT@V ETvyxavov €Tt epteodoal, Kal Xepol kal 0Topaot katéxwoav oi fdpPapot faAlovTeg,

ol pev €€ évavting émomopevol kai TO Epupa ToD Teixeog oLy XWOoavTeg, ol 8¢ mepleABovTeg
névtofev meptotadov. Aakedatpoviny 6 kal OeomEWY TOLOVTWYV YEVOUEVWY QWG AEYETAL AVT)P
dptotog yevéoBatl ZnapTiytng Amvékng: TOv 00 @aot einely 1o €mog mpiv fj cuupifot opéag
Tolot Mndotot, mubopevov mpog tev v Tpnywvinv o¢ énedv ol PapPapot dmiwot T To§edpata,
TOV fjAtov V7O ToD TANBEOG TOV OLOTOV AToKPUTTOVOL: TOCODTO TTARBOG AVTOV eivat. TOV 8¢
OVK €KTTAQYEVTa TOVTOLOL elnelv €V dNoyin motevpevov 10 Mndwv mAf0og, wg mavta ot dyada
0 Tpnyiviog &etvog ayyéAhoy, el dmokpuntovtwy T@V MiRdwv ToVv fiAtov v1to okif) €00LTo TIPOG
avTOVG 1) paxn Kal ovK &v NAiw.

méavTeg ahéeg ol dANoL AN OnPaiwv (line 3). Examine this remark in consideration of
the Thebans’s position in the war. [2]

Describe the location of the hill where the Greeks retreat. Support your answer by
quoting the Greek text. [2]

Discuss the way Herodotus highlights the Greeks’ heroic behaviour in the battle.
Support your answer by quoting the Greek text. [6]

Turn over
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Option C: Tragedy

Extract 5

(c)
(d)

Euripides, Electra 774-796

AT. émel peddBpwv T@VS’™ annpapev moda,
775 éoPavteg nuev Sikpotov gig ALagLTov
€vO’ v 0 kAewvog TV Muknvaiwv dval.
KLpel 8¢ knmoLg v katappvTtolg PePag,
Spénwv tepeivng pupaoivng kapa TAOKoLG:
10wv 17 dqutel- Xaipet’, @ Eévor Tiveg
780 ndOev mopeveod’; €ote 17 ék moiag xBovog;
0 8’ i’ Opéotng Oeooaloi- mpog &’ AN@edv
Bvoovteg épxopecd’ Olvpmiw Al
KAwv 8¢ Tadt’ Alylofog évvémel tdde:
vOV pev ap’ iUy xpr ovveoTiovg £pol
785 Boivng yevéohar Tuyydvw 8¢ povbutdv
VOpQaLG: €dotL §” é§avaotavteg Aéxoug
&G TadToV figeT’. AAN’ lwpev €g Sopovg —
Kal Tadf’ du’ fyopeve kal xepog AaPav
Tapiyev Nuag — ovd’ dnapveiobat xpewv-
790 énel §’ év oikolg Npev, Evvémel Tdde-
AoVTp’ G TaLoTA TOTG EEVOLG TIG AipETw,
@G AuPl Pwpov oTOOL XepviPwv MEAAG.
AN’ ein’ 'Opéotng: dptiwgnyviopeba
Aovtpoiot kaBapoig motapiwv peibpwv drmo.
795 el 8¢ E&vovug doToiot cuvBvEY Xpewy,
Alyl00’, €totpot kovk dmapvoipead’, dvak.

Translate énel ... T@v Muknvaiwv dvag (lines 774-776).

Explain two possible reasons why the killing of Aegisthus is recounted by a messenger
instead of being staged.

AAgeov (line 781). Identify this topographical feature and locate it.

List three ritual elements of the sacrifice to the Nymphs as mentioned in the extract.
Support your answer by quoting the Greek text.

[3]

[2]

(2]

3]
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Extract 6
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Sophocles, Electra 577-600

580

585

590

595

600

el & ovv, épd yap Kai 10 0oV, keivov BEAwv
gnweekijoat Tadt’ €8pa, TovToL Oaveiv
Xpfy avtov obvek’ ¢k 0éBev; molw vouw;
Opa tifeioa TOVE TOV VooV Ppotoig

U T oauTi kai petdyvotav TOfG.

el yap ktevoduev GAAov &vt’ dAlov, o tot
npwTn Bavolg dv, el dikng ye TvyxdvoLg.
AN’ eioopa un oxiyy odk odoav Ting.

el yap 0éAeg, Sidafov avh’ dtov taviv
aloxlota mavtwv €pya Spdoa TVYXAVELS,
fitig Euveddelg T@ makapvaiw, ued’ od
TaTépa TOV Apov mpoobev fanwAecag,

Kal Tadomolels, Tovg 8¢ mpoabev evoePelg
K&& evoePav Praotovtag ékParodo’ Exelg.
WG TadT’ Emauvéoaty’ &v; fj kal Tadt’ épeig
¢ TG Quyatpog avtimotva Aappdvelg;
aioxp®g &, éav mep kol AEyng: o yap kakov
¢x0poic yapeiobat T Buyatpog ovveka.
AN’ oV yap o0d¢ vovBeteiv é€eoti o,

f] mdoav g YA@ooav @¢ Ty puntépa
KAKOOTOHODEV. Kai o’ Eywye deondTiv

il uNtép’ 0Ok ENacoov eig UG VEHW,

fj (@ Piov poxOnpov, €k te 6od Kakoig
moANoig del Euvodoa Tod Te GuVVOpOUL-

aioylota mavtwv épya (line 586). Outline two faults of which Electra accuses her
mother. Support your answer by quoting the Greek text. [2]

Write out and scan aioxp®g ... obveka (lines 593-594). Indicate elisions where

necessary.

[2]

Describe how Electra’s argument is enhanced by Sophocles’s literary style. Support
your answer by quoting the Greek text. [6]

Turn over
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Option D: Agon

Extract 7 Thucydides, The Peloponnesian War 4.19

10

‘Aakedatpoviot 8¢ duag mpokalodvtat £G omovoag Kal StdAvoty ToAEpov, S10OVTEG PV elprvy
Kai Euppayiav kat GAANY @thiav TOAANY kal oikeldTnTa ¢G dAAANAOVG DTIAp)XELY, dvTartodvTeg O¢
TOVG €k TAG Vijoov avdpag, kal dpetvov yoduevol apugotépolg pr Stakivdvveveobat, eite Pia
dapvyolev mapatvxovong TvoG owtnpiag eite kal ékmoAlopknOévTeg paAAov &v xelpwOelev.
vopifopév te Tag peyalag €xBpag paliot’ v StalvecBat BePaiwg, ovk fjv AvTapvvouevog Tig
Kal émkpatnoag Ta mAeiw Tod TOAEpOL KaT™ Avdyknv dpkolg eykatahapfavwy prn &nod tod
toov EuuPi, AAN’ fjy Tapov 1O adTd Spdoat TPOG TO ETLEIKEG Kal APETT AVTOV VIKH oA Tapd &
npooedéxeTo petpiwg Euvalhayf]. o@eilwv yap 110n 0 évavtiog un dvtapvvesdat wg Praocbeic,
AN dvtamododval ApeTny, ETOOTEPOG 0TIV aioyVV) EUpévely oig EuvédeTo. kai paAAov
TPOG TOVG petlovwg £xBpovg TodTo Spdaty oi &vBpwmot fj TpoOg TovG Ta pHETpLa StevexBévTag:
TeQUKAOL Te TOIG PV Ekovoiwg évdodaty avinoodobot ped’ ndovig, mpog d¢ Ta depavyodvta
Kal Tapd YVounv StaktvduveveLy.

Translate Aakedaipoviot ... avdpag (lines 1-3). [3]

Outline three of the arguments used by the Spartans to convince the Athenians that
offering peace was the best option. Quotation of the Greek text is not required. [3]

Identify two phrases or expressions that exemplify key themes of the entire speech of
the Spartan envoys. Support your answer by quoting the Greek text. [2]

napd yvwpnv Staktvduveterv (line 12). List two examples of risks that could result from
not accepting a truce. Support your answer by quoting the Greek text. [2]
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Option D: Agon

Extract 8

(c)

Sophocles, Antigone 473-496

KP. &\’ 100t oL T okAnp” dyav @povipata

TUTTELY HAALOTA, Kal TOV EYKPATEOTATOV
475 oidnpov OMTOV €K TVPOG TTEPLOKENR

Bpavobévta kai payévra mhelot’ &v eioidolg:

OpKp® XaAv® &’ 0ida Tovg Bupovpuévoug

inmovg katapTLOEVTAG: 00 Yap ékméAel

@povelv péy’ 60Tig SoDAOG 0Tl TOV TN,
480 abtn & OPpiletv uev tot’ E&nmiotaro,

VOpovg bepfaivovoa TOVG TTPOKELHEVOVG:

VPpig &°, émel d¢dpakev, fjde devtépa,

ToVUTOLG Emavelv kal dedpakviav yeAav.

1 VOV £ya pév ok avip, abtn 8 avrp,
485 el TadT’ avartl Tiide keloeTal KpaTN.

AN’ €T’ adel@iig €10 opapoveoTtépa

ToD TTaVTOG NIV ZNnvog épkeiov Kupel,

avth e xn Evapog ovk dAvetov

LOPOL KAKIOTOV- Kal yap ovv keiviy ioov
490 énattidpat Todde Boviedoat Tagov.

Kai viv kahelt’ - Eow yap eidov dptiwg

Avoodoav adTiyv o0d” EmnPolov gpeviv.

Qe S’ 6 Bupog mpdobev fpiioBar kKhomevg

TOV undev 0pO MG €v OKOTW TEXVWUEVWV-
495 HLO® Ye HEVTOL XWTAY £V KaKolol TIg

alovg €neita TodTo KaAAvvely O€An.

OKP®D ... T@V TéNag (lines 477-479). Describe how this statement relates to
Antigone’s dispute with Creon. [2]

Write out and scan fj vov ... kparn (lines 484—485). Indicate elisions where necessary.  [2]

Describe how Creon’s argument is made more persuasive through Sophocles’s poetic
style. Support your response by quoting the Greek text. [6]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, De aere aquis et locis 7

10

(@)

(d)

niept 8¢ TOV Aomdv VO&TwV BovAopat dinynoacdat, & té 0Tt voowdea kai & LyletvoTata Kal
OkoO0oa a¢’ Bdatog kakd eikog yiveobal kat 6oa ayabd. mAgioTov yap uépog cvpfaiAetat

&G TNV VyLeinv. 0kOoa pev ovv 0Ty EAwdea kai oTaotpa Kai Apvaia, Tadta dvaykn Tod pev
0épeog eivat Oeppd kal maxéa kat OSUNV €xovta, dte ovK AmoOppLTA EOVTA- AAAL TOD Te duPpiov
0dartog émpepopévou aiet véov Tod Te HAiov kalovTog avaykn &xpod Te eivat kai Tovnpd Kal
XoAwdea, ToD 8¢ xelu®vog mayeTwded Te kal Yyuxpa kal Tedohwpéva DO Te XLOVOG Kal TAyET@Y,
dote pAeypatwdéotata eival kai Ppayxwdéotata. toiot 8¢ mivovat omAfjvag pev aiet peydovg
elval Kal HEHLWIEVOLG Kal TAG YaoTépag OKANPAG Te Kai Aemtdg Kai Oeppdg, Tovg 8¢ dpovg kal
TaG kANidag kai 0 mpocwnov katakehentvobat £¢ yap TOV oMAfva ai 0dpkeg CLVTHKOVTAL,
S10TL ioxvol giotv- €8wdovg Te elvat ToG TOLOVTOVG Kail Stynpovg- TG Te Kothiag Enpotatag te
Kai OeppoTarag kal Tag dvw Kal Tag KATw EXELY, MDOTE TOV Pappdkwy ioxvpoTépwv deiobal.
To0TO peV TO voonua adTolol oOVTPoPov €0TtL Kal Bépeog Kkal XEUDVOG.

Translate mAgiotov ... ¢ovta (lines 2—4). [3]

Tadta ... Yohwdea (lines 3-6). Identify three factors that affect the quality of water
sources in the summer. Support your answer by quoting the Greek text. [3]

TobTo pev 10 voonua (line 12). Describe the disease that Hippocrates is referring to. [2]

List two examples of Hippocrates’s lonic dialect with their Attic equivalents. [2]
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Option F: Scientific knowledge

Extract 10
>Q.
5
10 OAIL
>Q.

Plato, Phaedrus 272d-273b

@aot Toivuv 000V oUTw TadTa delv oepuvivery o0d™ Avdyely dvw pakpav mepParllopévoug:
TV TATAoL Yap, 0 Kal kat’ apxag eimopev Todde oD Adyov, Tt 008&v dAnOeiag petéxety
déot Sikaiwv fj dya@dv mépt mpayudtwy, fj kat AvOpOTWV Ye TOLOVTWY QUOEL HVTWV

1| TPOPR, TOV pEAAOVTA ikavdg prtoptkov €oeaBat. TO Mapdmav yap ovdev év Toig
dwaotnpiolg Tovtwv dAndeiag péley o0devi, AN ToD TBAvVOD- ToDTo §” elval TO €ikOG, ©
detv mpoaoéxetv TOV pEANovVTa TéX V) Epelv. 00OE yap adTa T paxBévta deiv Aéyetv évioTe,
EQv ) eikOTwG 1) TEMPaypéva, AAAA TA eikoTa, £V Te Katnyopia Kai dmoAoyig, Kal TavTwg
Aéyovta 10 O1) eikog StwkTéoV eival, TOANA eindvTa Xaipey @ dAnOel- TodTo yap S
TAVTOG TOD AOYOL YLy vOpevov Thv dmacav téxvny mopilely.

avTd e, © Zwkpateg, StehnAvBoag & Aéyovaoty ol mepi TOLG AGYOVG TEXVIKOL TTPOGTIOLOVEVOL
elvat avepvroOny yap 6t év 1@ mpocbev Ppaxéwg Tod Totovtov Epnydpeda, Sokel 6¢
ToUTO TAppeya elvat Toig mept TadTa.

AANA prpy 1oV ye Tewoiav adTov mematnkag akptpdg: eimétw Toivuv kal Tode Nuiv 6 Teloiag,
pr) T dANo Aéyet TO €ikdg 1] TO T@ ANOet SokoDdv.

10. (a) ¢oaol... ogpvovey (line 1). Present the context of the extract by stating who these

interlocutors are and what they criticize. [2]
(b) 0 Tewoiag (line 13). List two details about the sophist Teisias. [2]
(c) Describe how Plato’s literary art presents a concept central to his philosophy. [6]

Turn over
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Section B

Discuss any one of the following prompts. Your answer should demonstrate your understanding
of the prescribed authors, knowledge of broader contexts and critical analysis. [12]

Option A: Homer

11. Suffering and loss reveal the true soul of the Homeric heroes.

Option B: History

12. In Herodotus’s world the gods speak to humankind through oracles, but it is humankind’s
responsibility to interpret them.

Option C: Tragedy

13. Tragedy is never the result of an individual choice, but of a cycle of events.

Option D: Agon

14. Conflict can equally result in growth and progress as well as in loss and destruction.

Option F: Scientific knowledge

15. The outstanding contribution of Greek science is the discovery that the same laws apply to nature
and humankind.




